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H,SO0, 98.3%
338 C 1.84 g/em’s
1 g/cm’ o

(H,80,—==2H" +S0.7) .
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2)
H ) : +
( )— +H, To
i Fe + H,S0,( ) =——=FeSO, +H, 1
(3) : o
: H,S0, + Ba( OH) , BaSO, | +2H,0
(4) :
. :Na,0 +H,80,—=Na,S0, + H,0
CuO + H,80,—=CuS0, + H,0
(5) 1 (
. . ) o
Na,CO, + H,S0,—=Na,S0, + €O, 1 +H,0
2NaHCO, + H,80,—
Na,S0, +2C0, T +2H,0
BaCl, + H,S0,—=BaSO0, | +2HCl
CaCl, + H,80,——=CaSO0, | +2HCl
2.

—_ o~~~

H,S0,

H,S0,
( H,0) H, S0, .
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H.0 2:1 H,0

:C,H,0,( ) ——12C+11H,0

CH3CH20H WCHZ = CH2 T + HZO

HCOOH ——CO 1 +H,0

4.
+6
(1) H, SO, Fe. Al
(2) H,SO,
( NN ) o
Pt.Au H,SO0,

A

2Fe +6H,50,( )
6H,0
L

Cu +2H,80,( ) ===CuSO0, +S0, T +2H,0

S0,

(3) H,S0,
( C.S.P ) .

A
C+2H,80,( )===CO0, T +250, 1 +2H,0

A
S +2H,80,( )===3S0,1 +2H,0

SO, ( )
(4)  H,S0, (
H,S.HI.HBr ) . H, S0,

o

Fe,(SO,), +3S0, T +
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(SO, ). 50, ( 16

A
H,S + H,80,( ) =2=S| +50, 1 +2H,0 +4 50, )
2HI + H,80,( ) =1, +50, 1 +2H,0 50, -

. 50, . ( 1)
|
H,S0, H* S03 ( H, S0, )
+6 ; H*
S0, H,

:2NaOH + H,50,=—=Na,S0, +2H,0

i Fe, 0y +3H,50,=—= Fe,( S0,) ; +3H,0

:Ba( NO;) , + H,SO,—= BaSO0, | +2HNO,

( Pt Au ) : + : + H,80,( ) — +H, T (
H,50,( ) — + 50,1 +H,0 FeSO, H,)

( C.S.p

( H,S .HBr.HI.FeO

.S02° Na,S0, +H,S80,( ) ==Na,S0, +50, 1 +H,0
2- 2- L2+ A
SO, SO,” Ba Cu+2H,80,( ) ==—=CuSO, +S0, T +2H,0
BBSO4 BaSO4 o (4) HCI
Ba’* BaCl, Ba( NO,),
NaCl + H,S0,( ) ==NaHSO0, + HCI 1
( Ag® . Hg'.CO*" .Si02".S0?" ) 2NaCl + H,80,( ) ==Na,S0, +2HCI 1
\ : (5) Cl,: MnO, + 2NaCl + 2H, SO, ( )
aCl, A
BN —=—Na,S0, + MnSO, +Cl, T +2H,0
— s (6) CO: HCOOH —— €0 1 +H,0
(7) C,H,:
SO2™,
. CH;CHZOH WCHZ = CH2 T + HZO
1. (1) H,: 2.
Zn+H,S0,( )=—=17nSO, +H, 1
(2) H,S: °
FeS + H,80,( )==FeSO, + H,S 1 ( NH;)

(3) S0,: (  H,S\HI.HBr) >
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1 N = o
1 (5)A* x m
ngA” mol
175+ 118 “ + = ”
( )o O(l)N:A—ZO (2)4Xn+ x
A.57 B. 118 C. 175 D. 293 X x+n N=A-x-
= no (3)'X"" x X
x-n N=A-x+n. (4)"C"°0, N =
175 + 118 =293, :D. 6+8+8=22, (5)A° m-—x+2
2 _
4 e A n(m x+2)o
2 X m
(1) "N = . 3 N N N
(2) :/an+ x
N: . 3 “ »
(3) X @ Sm o'Sm « )
N = o A. é;“Sm ZOSm
(4) ¢, B. 2'Sm  [’Sm
> S0,.CO  H, (S0, .
o H, . o
) .
S0,.CO  H,. 6.
3 ( ) . ; Pt. Au
o ( C.S.P )
CH,COOC, H, + H,0 — H, 80, (
. . . )
CH,COOH + C,H,OH
CoHu0,( ) +H,0—— 2FeSO, +2H,80,( )—
CHAOL ) +CH0( ) Feu(80.), +80, T +21,0

CH, +HNO,( ) C.H, —=NO, + H,0

—>
50 ~60°C

CH,COOH + C,H,0H

CH,COO0C, H, + H,0

7.
70°C ~80°C
CH, +H,S0,( ) C.H,—SO,H +H,0
8. : KMnO, K,Cr, 0O,
KMnO, K,Cr, 0,
( 12016 —10 - 15)



